Proposed NU Business Name: ANIKA STORE



Project identification and prepared by: MD Anarul,
Mowna Unit, Gazipur
Project verified by: MD Rafiqul Islam



Brief Bio of The Proposed Nobin Udyokta			
Name	:	ALMAS MIA	
Age	:	12-06-1988 (28 Years)	
Education, till to date	:	Class VIII	
Marital status	:	Married	
Children	:	01 Daughter	
No. of siblings:	:	01 Brother 01 Sister	
Address	:	Vill: Akta para P.O: Nij Maona ; P.S: Sreepur ; Dist: Gazipur	
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info	: :	Mother Father KHUDEJA MD SHARFAT ALI Branch: Mowna, Sreepur, Centre # 46 (Female), Member ID: 4514/1, Group No: 07 Member since: 08-03-2004 (12 Years) First loan: BDT 5000/-	
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan (viii) Any other loan like GB, BRAC ASA etc	:	Existing loan: BDT 50000 Outstanding loan: BDT 5000 NA No No No	

BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Nil
Business Experiences and	:	15 years experience in running business. 15 Years in own business.
Training Info	:	He has no training
Other Own/Family Sources of Income	:	
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01717-407111
Family's Contact No.	:	
NU Project Source/Reference	:	Grameen Shakti Samajik Byabosha Ltd. Mowna Unit, Gazipur

BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

KHUDEJA joined Grameen Bank since 12 years ago. At first she took BDT 5000 loan from Grameen Bank. She gradually took loan from GB. Utilize loan in Business.

Proposed Nobin Udyokta Business Info				
Business Name	:	ANIKA STORE		
Location	:	Aktar para Baazar		
Total Investment in BDT	:	BDT 180,000/-		
Financing	:	Self BDT 100,000/- (from existing business) 56% Required Investment BDT 80,000/- (as equity) 44%		
Present salary/drawings from business (estimates)	:	BDT 5,000		
Proposed Salary	:	BDT 5,000		
Size of shop	:	8 ft x 12 ft= 96 square ft		
Implementation	:	 The business is planned to be scaled up by investment in existing goods like; Soft drinks, Soap, Oil, Salt etc Average 15% gain on sales. The shop is in own place. The business is operating by entrepreneur. Existing no employee. 01 Will be appointed after getting equity money. Collects goods from Mowna Agreed grace period is 3 months. 		

Existing Business (BDT)

Particular	Daily	Monthly	Yearly
Revenue(Sales)			
Grocaries items	3600	108000	1296000
Total Sales (A)	3600	108000	1296000
Less Variable Expense			
Grocaries items	3060	91800	1101600
Total variable Expense (B)	3,060	91800	1101600
Contribution Margin (CM) [C=(A-B)	540	16200	194400
Less Variable Expense			
Rent		300	3600
Electricity bill		800	9600
Transportation		2,000	24000
Salary (self)		5000	60000
Entertainment		200	2400
Guard		300	3600
Mobile bill		500	6000
Total fixed cost (D)		9,100	109200
Net Profit (E)= [C-D]		7,100	85200

Investment Breakdown							
	Exist	ing	Proposed				
Particulars	Qty. Unit Price Amour		Amount	Qty	Unit Price	Amount	Proposed
			(BDT)			(BDT)	Total
Rice	5	1900	9,500	10	1,800	18,000	27,500
Pulse	1	5500	5,500	5	100	500	6,000
Atta	2	1050	2,100	100	90	9,000	11,100
Soft dinks	20	550	11,000	10	550	5,500	16,500
Soap	225	35	7,875	100	50	5,000	12,875
Powder	150	52	7,800	0	0	0	7,800
Paste	30	55	1,650	0	0	0	1,650
Oil	130	84	10,920	0	0	0	10,920

4,500

39,155

100,000

Mobil

Others

Total

10

1

574

450

39155

0

Source of Finance



1

226

0

42,000

80,000

42000

0

4,500

81,155

180,000

Financial Projection (BDT)				
Paticular	Daily	Monthly	Year1	Year 2
Revenue(Sales)				
Grocaries items	5800	174000	2088000	2192400
Total Sales (A)	5800	174000	2088000	2192400
Less Variable Expense				
Grocaries items	4930	147900	1774800	1863540
Total variable Expense (B)	4,930	147900	1774800	1863540
Contribution Margin (CM) [C=(A-B)	870	26100	313200	328860
Less Variable Expense				
Rent		300	3600	3,600
Electricity bill		1000	12000	12500
Transportation		2,300	27600	28,100
Salary (self)		5000	60000	60000
Salary(Staff)		3000	36000	36000
Entertainment		200	2400	2400
Guard		300	3600	3600
Mobile bill		600	7200	7300
Total fixed cost (D)		12,700	152,400	153,500
Net Profit (E)= [C-D]		13400	160800	175,360
Investment Payback			48,000	48,000

Cash flow projection on business plan (rec. & Pay)

SR#	Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	80,000	
1.2	Net Profit	160,800	175,360
1.3	Depreciation (Non cash item)		
1.4	Opening Balance of Cash Surplus		112,800
	Total Cash Inflow	240800	288160
2	Cash Outflow		
2.1	Purchase of Product	80,000	
2.2	Payment of GB Loan		
2.3	Investment Pay Back (Including Ownership Tr. Fee)	48000	48000
	Total Cash Outflow	128,000	48000
3	Net Cash Surplus	112,800	240160

SWOT ANALYSIS

Strength

Employment: Self: 00 Family:0 Others:00

Experience & Skill: 15 Years

Quality goods & services;

Skill and experience;

WEAKNESS

Lack of Capital/Investment

OPPORTUNITIES

Huge demand in the community Location of shop; Regular customers;

THREATS

Theft

Fire

Political unrest

Pictures













2020393

বিস্মিল্লাহির রহমানির রাহিম

জামানত-৩০,০০০/- (ত্রিশ হাজার) টাকা প্রতি মাসে ভাড়া ৩০০/- (তিনশত) টাকা মেয়াদঃ ৫(পাঁচ) বছর। ভারিখ ঃ ০১/০৮/২০১৬ইং

 মাঃ কামক লামান, পিতাঃ মোঃ রিয়াজ উদ্দিন, সাং-আকাপাড়া, পোঃ নিজ মাওনা, থানাঃ শ্রীপুর, জেলাঃ গাজীপুর, ধর্মঃ ইসলাম, পেশা ব্যবসা, জাতীয়তাঃ বাংলাদেশী। ===== ১ম পক্ষ ১জন ।

১। মোঃ আলমাছ মিয়া, পিতা- সরাফত আলী, সাং-আক্তাপাড়া, পোঃ নিজ মাওনা, থানাঃ শ্রীপুর, জেলাঃ গাজীপুর, ধর্মঃ ইসলাম, পেশা ব্যবসা, জাতীয়তাঃ বাংলাদেশী।

পরম করুণাময় মহান আল্লাহ তায়ারার পবিত্র নাম স্মরণ করিয়া ভাড়াটিয়া সংক্রান্ত চুক্তিনামা লিল লেখা আরম্ভ করিলাম। যেহেতু আমি অত্র দলিলের ১ম পক্ষ আব্ডাপাড়া বাজার সংলগ্ন একটি ল ভাজা দেওয়ার জন্য প্রস্তাব ঘোষণা করিপে আপনি ২য় পক্ষ তাহা ভাড়া নিতে

ভার ইউনিয়ন পারিষদ শাঃ- বারতোপা, উপজেলা ঃ শ্রীপুর, জেলা ঃ গাজীপুর। দ্বিড লাইসেপ ন্মন পরিষদ আদর্শ কর তফসিল ২০১৩ নাতাবেক।	GOVERNMENT OF THE PROPERTY OF
নির বিশ্ব	
ক্তি হৈ হৈছে ৩০ জুন ২০১/দ্ৰ হৈ তারিখ পর্যন্ত। পুলা ব্যবসা ও বৃত্তির উপর লাইসেপ ি অন্যান্য স্কাহ সৈক্তি ভূমি দ্রি দ্রি ভূমি দ্রি দ্রি দ্রি দ্রি দ্রি দ্রি দ্রি দ্র	এই কাটী দশ্যালাফী নামানৰ সংকাষৰ ফশাঁৱ। কাটী বাম কোমাৰ পাৰ্বা গোল চিকটি গোট অভিসৰ জন্ম সোৱা জন্ম কিলাস: প্ৰামান্তাৰ) আক্ৰাণাড়া, মাৰুণা, ভাকসং: নিজ মাৰুণা গাজীপুৰ
ইউনিয়ন সীমানায় তার ব্যবসা /বৃত্তি/পেশা চালিয়ে যাবার জন্য এই লাইসেল প্রদান করা হলো । ১ ত ত লাক কলাক বিভাগনাক করি বিশ্বাক বিশ্বাক করি বিশ্বাক করি বিশ্বাক	STATE OF THE STATE

FAMILY PICTURE

